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S ARTA 7 Y —F (50m)
WA :20264E7TH19H (+)~7H20H (H)

No.30 BF 50m Fjk= R

L hEE >

B K £ T B 2E KK icE
1 BB B TS SsHJI 13 1/ 4 30. 62 9f%k ( 0.61)
2 =H 1&A J SSIE 13 1/ 5 31.63 9%k (0.71)
3 ik B NSZJEE:E 2 1/ 3 31.84 8tk ( 0.64)
4 1A FEE I SSKkE 13 1/ 2 31.89 8t ( 0.68)
5 N &t =PI e A 13 1/ 6 32.18 7% (0.70)
6 KA BIGT = 3 1/ 7 33.13 65% ( 0.67)
T AR OFRA v— MR 13 1/ 1 33.16 % (0.76)
8 MiiE HEE 2VHIST 13 1/ 8 33.36 6% ( 0.63)
9 BEE ARk MY S 455 H13 1/ 0 33.39 % (0.73)
10 )\t HZ A b~k 1 1/ 9 34.20 9%k ( 0.64)
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